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1. Solve using the pictures. Complete the number sentence to match,
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{ canadd 2 tens and 3 tens first.
That's 5 tens. Fhave 9 ones; the
ones don’t change.

7. ilse a number bond to solve.

40+38=_T78 40+ 30 = 70 |
j X =G+ 8 = 78 . i cfzgn break 38 into 30'a:r.1d'.8'“
30 8 . with the number bond. [ add

40 and 30 first, which is 78,
and then add on 8to make 78.

3, Solve. You may use number bonds to help you.

23+ _40_ = 63 34 +50 =84
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| can check my work by
drawing a numiber bond.
Since 3 + 5 = 8, | know that
30+ 50 = 80. 34 i5the
‘missing part because the
total, 84, has 4 ones.

| can start at 23 and count on
by tensuntil{ get to 63. | count
up fourtens: 33, 43,53, 63.
63 is my totall

v

pessan 11 Add a multiple of 10 to any two-digit Aumber within 100, i3
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